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Keys to the Simulated Test

51. The correct answer can only be B for the reason that the modal verbs must be
put before the main verbs. In this way, the two positions indicated by answers A and D
can be ruled out. This is a rather complicated double-object interrogative sentence, whose
main structure is “YREELE YR F [+ ]M?”, in which the [++++*+] part is a subject-
predicate structure. Therefore, there are two verbs in the sentence, “&9%” and “TE”.
The key to the question is to judge which is the main verb.

52. The correct answer is C, for the reason that “—j&” is an adverb, which should
be put before a verb to function as an adverbial in a sentence. In this sentence, there are
two verbs: “J&” and “32”. From the meaning of the adverb “—i&”, we know that the
action it modifies must be a dynamic and describable action while “f&” is a verb that is
too abstract to be modified by “—32” . For the reason that answer A lies before the time
noun and answer D lies at the end of the sentence, they can all be ruled out.

53. The correct answer can only be B for the reason that “4” is an adverb, which
can appear only before a verb. In this sentence, there is only one verb which is “B7,
and therefore it is very easy to judge.

54. The correct answer to this sentence is A. From the point of view of the structure
of the sentence, there are two nominal elements (“#1&” . “Bfi & 1:”) and one predi-
cate element (“iL#E/2”) . The element that is to be embedded is the character “m”,
and therefore we can conclude that it is a “&” sentence. The typical structure of “38”
sentence is as follows: :
NP,(causer) + o+ NPz(causee) + VC
In this sentence, “1X 1" is NP, and “W il € " is NP,. Therefore, the character
“48” can only be put between the two nominal elements. So both of the positions
indicated by answers C and D can be ruled out. “WifiL” and “#%& 1 "is a measure-word-
noun structure, in which no preposition is to be inserted. So answer B can be ruled out.

55. The correct answer is B. “3L” is an adverb, which usually appears before a
verb to function as an adverbial. In this sentence, there is only one verb “4£” . There-
fore, the possible answer might be B before “f£”. We should also know that, however,
“8k” can also be used before the structure of “demonstrative pronoun + noun”, for
example: “%ﬁ/é./l\d‘_f’ﬁﬁgﬁ 200 HRE&” and “MX AN/ PNEBFEHFT 10
4£” . So C might also be the correct answer. The reason that B is chosen instead of C is
that in this sentence, “demonstrative pronoun + noun” is used in the structure indicating
the direction and position, “ZE----- B”, and “3” cannot appear after “ZE” . So only B
is the correct answer.

56. The correct answer is D. In this sentence, there is the structure of “verb +
H” . Generally speaking, there should be “3” to be used after “H{” to function as its
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following element. And answer D just appears after “”.

57. The correct answer is B. “Z<3” can function as two kinds of part of speech:
adjective and adverb. The adjective “Z<3&” has the meaning of “Jii 5 # (original)”,
and it can be used to modify nouns. The nouns it can modify, however, are limited, for
example : “EEEER”. It is rarely used together with other nouns. The adverb “A3k”
is used before verbs, meaning “Ji& SE ) BT HT ?ﬂiﬁﬂﬁﬁ B IZ X AE ) (originally,
previously, it should be so according to the common sense)” . In this sentence, there are
three verbs: “f&”, “1L” and “F* 4", among which, only the two positions of B and C
could be selected . Before C there are already other modifying elements and it is very hard
to insert another adverb between them. Therefore, the most possible position where “Z<
3" could appear is B. And given the meaning of “Z<3”, it can be assured that B is the
only correct position.

58. The correct answer is C. “B.” is an adverb, which is opposite to “5K” in the
meaning. It should appear before verbs or verbal elements which should include in it a
predicative object, that is to say, the element after it must include a complete sub-clause
object. In this sentence, there are three verbs: “ER”, “4BF” and ‘B, among
which, only the element after C has a complete logic predicate element in it.

59. The correct answer is C. “BR T -+ #” is a commonly-used structure, which
connects two structures with equal syntactic status. In this sentence, “F T H LR W &
JEKNE" and “EHBERIBLBKFE” are two equal structures, so C is the most suitable
position for the embedded character “BB”.

60. The correct answer is D. “# ¥ #BL” is an adverb used before predicative
elements (adjective and verb) to mean that along with the changes of a certain condition,
the extent of the thing referred to by the predicative element is growing and deepening, for
example: “BUSRBIEF”, “HKBHE", “BRBAWIE" and “BRBEF L7, etc.
In this sentence, the element after “Tij H.” can indicate the increase by degrees. So D is
the most suitable position of “BRRHE” .

" 61. The correct answer is A. The measure word of “F28” is “H”.

62. The correct answer is B. “Bf------ X ”is a fixed collocation.

63. The correct answer is D. The subject of the sentence is the receiver of the
action, not the causer. Therefore, “f#” and “#2” can be ruled out from the correct
answer. The remaining “il:” and “#{” are possible choices. But when “ik” appears in a
passive voice sentence, the agent must appear simutaneously. In this sentence, there is
no agent, and so the only choice is “BE.

64. The correct answer is A. “J&--- B~ is a fixed collocation.

65. The correct answer is A. The prepositions “LPA”, “#”, “4E” and “H1” can all
form prepositional structures with “3 & ”. The structure of “ LA + nouns” indicates the
way or the standard of doing something, “# + nouns” indicates the objects to be
depended or rules to be followed, “#% + nouns” introduces the basis or the reason to be
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relied, and “Hi + nouns” introduces the agents or the objects to be depended. In this
sentence, “HEE” is the way or standard of driving, and therefore answer A should be
chosen as the correct one.

66. The correct answer is C. “3&F”, “¥tT” and “ZE F” are all prepositions.
They can be used to form prepositional structures with the noun following them to function
as adverbials. “H{ F” is a conjunction connecting two predicative elements. In this sen-
tence, “TAEH J1” and “1BH T HZE X2 4E" are two predicative elements.

67. The correct answer is B. “&”, “f#”, “BY” and “iL” all have an imperative
meaning, but they have different usages. There must be a concurrent element after “% 7,
“BY” and “iL:”, while there can be a concurrent element or a subject-predicate structure
after “f” . In this sentence, “FZIRAFFEME” is a subject-predicate structure instead
of a concurrent element structure. Furthermore, “{#” has a stronger sense of causing,

and so it demands that the element following it be result oriented.

68. The correct answer is A. The adverbs “F”, “WA&B”, “X” and “t”can all be
used to indicate the lasting or repeating of an action (or state). But in this sentence,
what is to be expressed is not the lasting or repeating of an action, but that two events
happened closely one after the other. In this case, only the combination of “FF” with

.“41” can express this meaning.

69. The correct answer is A. “H8” and “X}” are prepositions, while “f#” and
“ik” are verbs. What should appear here should be a preposition. So “ff” and “iL” are
ruled out. “BE FHHGF T ” is a complicated phrase indicating a strong sense of result
and meets the conditions for “” sentence to appear. “F¥£” is a dynamic verb with a
strong sense of dealing with something. So it requires that the subject of the sentence has
the semantic characteristics of [ + agent]. And the subject “ffi{]” just has such a
semantic characteristics. This sentence meets all the conditions for the “#2” structure to
stand. Given that there should be one answer, we choose “#&”.

70.The correct answer is B. “ F3”, “ER”, “Hi3k” and “HR” are all com-
pound verbs indicating directions with substantial meanings by themselves. They can all
be used after verbs to function as complements. When it functions as a complement; it
can either have substantial meanings or just indicate a trend without substantial meanings.
“F3” and “HBHK” are more often used for empty references, and “ Hi3k” and “HBE3R”
are more often used with their original meanings. The way to judge whether they are used
for their original meanings or for empty reference meanings is to see what semantic type a
verb belongs to. To be more specific, it depends on the extent of abstractness of the
verb. The more abstract the verb is, the more possible that it is used for its empty refer-
ence. “¥T(#F)” is more abstract, and so it can be concluded that they are used in the
sentence for empty reference. Although they can all be used afier a verb, they could have
‘different meanings. Each one of them has many semantic items and we now give our con-
sideration only to that semantic item that combines with “¥T”. “ L 3R”, used after a
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